
EJERCICIO 6.6 

Completa las oraciones con la forma correcta del verbo 
ESTAR. 
1.$Martina$y$Ana$________________________$en$Colombia.$
$
2.$Él$________________________$enfermo.$
$
3.$Nosotras$________________________$en$la$misma$clase.$
$
4.$Yo$___________________________$triste$hoy.$
$
5.$Dolores,$¿porqué$_____________________$tú$nerviosa?$
$
6.$El$profesor$_______________________$de$mal$humor.$
$
7.$Ud.$__________________________$en$California.$
$
8.$Tú$__________________________$cansado.$
$
9.$Los$niños$_____________________$muy$tranquilos.$
$
10.$El$chocolate$____________________$caliente.$$
$
11.$Ellos$______________________$en$la$escuela$ahora.$$
$
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